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1 | EJIEBER)IIET 810,000,000):F )11 300,108):&)II 58,683,597
2 |ERRwW 420,489,498] & /& 156,702; LAl T 23,022,522
3 |ALRTERE 273,335,696| & & 114,186} &= h 17,600,252
4 |EET 113,470,957 |4LIRTIE X 78,022|4R = 8,432,508
5 BT 109,454,220 4L 1R FFE X 71,6654 A0 42 HT 8,393,453
6 |ERfET™ 54,635,477);I AT 62,731) 4 SR AR &G ET 6,896,123
A LN 39,448 394 EETH 57,043| E R &M 6,764,376
8 =/ 10,846,165 /B )11 48,815) > 7 EB B = ET 5,573,162
9 IRl 7,486,745)8)| & 48,552| #% S= EB % S=HT 3,607,208
10 |ZEH 7,226,640)4R = 38,513| L JI| ZRSE B HT 3,087,753
11 |BIEg™H 1,571,705| Lt i 75 X 38,195 & /MkTha 2,562,585
12 |&%&H 956,134 | 122 BB P42 HT 38,023|dL R 1 2,481,477
13 |/hMgh 873,815 ALRTMTAL X 36,021] 9 )11 BR = Bl BT 1,880,204
14 |#LiRrTdE X 713 344|ERE T 35,457|IL ARG BT 1,634,841
15 |=MEH 712,779)fLIRTFTEHE X 35,143|BHEE ™ 1,609,947
16 |#LiRrEEX 641,801)|=fH 30,868 51| BB A 3| T 1,535,609
17 |=%h 438,439| B ¥ 27,965| 8 & 1,379,940
18 |Fmh 383,639 AR H = BT 25,673| R Z EB B ZHHET 1,331,707
19 | L EBIZESRET 379,520|dt R 25,536 K15 ER 157 LEET 1,271,565
20 |4t 366,193 4 sRER = BHT 25,070 35 &R &R 2 #2 P BT 1,126,760
21 AT PR 329,808 #L 1% i E Al X 20,827|ZZ M AR = B EF AT 955,566
22 |BB#mH 319,863 & Al 18,851 |F & A3 HET 953,209
23 |# B AR R 261,733 #X == A0 4% S BT 18,775)%L 3 AR 4L ST BT 926,746
24 &Il 232537 & LT 17,7414 LR £/ EET 887,300
25 |ALIRTIFFER 177,628)/M& T 17,061 |4 FH &R FRAB BT 877,527
26 |BEEEBFTOI=HVET 163,414)4& 1L ER £/ E BT 17,0144 )1 T 871,938
27 |EEENE BT 162,099){FE 16,858 AL 1% i1 S+ Fd XX 829,355
28 |FREEBRUEHT 125,800] £ J1| ER £ T HT 15,886 & Al 808,343
29 AT 123,505) 4 FH &R &R AT 13,989) &5 BA AR /N F BT 797,761
30 |HLmRAR 123,340 & )11 12,373)FI BRI AL = L BT 757,067
31 [ALRmH 115,570) 711 ER 5 51 BT 12,351 | EFR 15 E /T 719,622
32 |HRHEER 97,809| F & 12,080) 4L 1% i FG X 719,610
38 |eEEm 85,505 ALIR T R X 10,219)Z2 XN B0 = B EF AT 717,142
34 |HLiRTRX 76,3665 PAER L FNET 9,519 &5 AT ER & AT ET 672,018
35 |FREARLK 4-HT 76,151 | Z2 &N AR 2 H T ET 7,581| ¥R ED B #RET 599,748
36 [ALMRmEREK 72,302| R & AR 2 FHT 7,015| 4L F &R = 132 All BT 587,635
37 |4&ILER T Z=HT 66,138| 50 )11 BB A Il BT 6,751| S LB S 4T 526,449
38 |ALIRTIERIX 65,780| K& AR 15 LEET 6,744] 7 5 EB I L ET 518,910
39 |EHEREEHT 65,076|FRE AN A EHT 6,115 4L FH AR B8 & &4t 503,152
40 |:RTERERE EHET 52,0425 5A] BB 7 AT HT 5887|tLIRT E AKX 499,032
41 |iRREBZYHHET 49,062| ZZ B b = B EFHET 5,678| L&A T NET 481912
42 |’ERNEBE NET 48,596 I EE &R IL BT 5672|=EEH 442761
43 |4~ sREBER{=HET 47,8784 FH &R S ABHET 5,372| F33AT BB 7 SAT BT 412,596
44 | IR EBFI 7 ET 42,000|Fe =& &R ;B H AT 5,314|#ATH 385,506
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45 |E7{+EBRIEET 40,870| 5 #% B &5 FRET 5191\ &% 377,808
46 |#@ET 36,827| F AR ER R PET 4,997 | 4L 1% E Al X 375,538
47 |EAlTH 33,476| FI AR FI L = L BT 3,987/ N EB L FOET 375,257
48 |HBREM 30,288| 14 EEBIE ERT 3,900/ & 342,063
49 |#L3ZEB%LSTHET 29,561| 224N &R = B EF AT 3,817| B = AR =R BT 302,967
50 &I 27,7558 AT 3,783| L JI| ERFNZEMT 241,770
51 [#uAlT 27,681|#@%E™ 3,706| % 5R AR 3E LLIET 238,950
52 |eh )11 ER % A ET 25,728 £ JI| ERFOZE/T 3,641 |FNEEFREZAT 232,091
53 |:AI7E ERZE = HET 25,371| £ RI 3,461| £ 5ItH 209,081
54 |{FEH 25,361]#L. 3 BB 4L X ET 3,093 #L MR i 3R X 167,936
55 |E2 7 AR5 7 BT 25,289)dL L BT 2,916|3R] AR _E - M5 ET 167,176
56 [1ZiE ARSI EHAT 23,382 B A ER 5 AT 2,851 wIATH 166,546
57 |&FEVAM 21,000] B8 &3 &/ N FHT 2,800} F = 162,888
58 |=i=ER/\ZHT 20,586 /& = &R xR AT 2,731 &5 &R 5 T 154,642
59 |4 5RARSE ILIET 19,581 )% 7 &R %I BT 2,722} #LiR AL X 128,128
60 |3 :AT ER AT 17,681]4C E AR EE F &R+ 2,497|dLIEETH 112,527
61 |BZEEZHE 16,113 R BB IR F+ )11 41 2,490|#2 Al v 99,410
62 |&IE%ERSIERET 15907| B RiRH 2,284|#EH 96,471
63 |&E&F™ 15,879 FEM 2,244)dt 3k 93,345
64 | B #EER B HRET 15,665 % SR EBZE LLIET 2,205| B S EBFT O 2 AN ET 91,894
65 |#EEEBEIRET 15,533 25 AT AR & AITET 2,175 22 XN EB R SR T 88,539
66 |/==EEBIL EHET 14,971| &5 F 2B 5 BT 2,130| ;AT ER AR & B ET 66,206
67 |LJIEREKET 14,045] 1 F &R 1E. &N BT 2,030| & H Z3 L AR ET 58,511
68 |11 ERAS FI ET 14,034 AT ER B £ L 1R ET 2,008| F AR EBFRET 53,163
69 |#0AIER = ERET 13,806 |- F AR = 7% AIl BT 1,967) 4L R X 41,057
70 |AIERER L L 1RET 12,077| L REER A &y PR HET 1,942| & 5528 24 Al BT 40,183
71 |# B AR B ET 11,796 254 EB A s BT 1,916+ & AR A 1R ET 37,117
72 |FERERFRET 11,732|BE & B = HT 1,807 |4 HH AR {E &0 £ BT 37,061
73 | B ER Y B ET 11,364 AT R AR5 S BT 1,795 4 = R #7121 BT 33,144
74 | & HERCERET 10,819 4% 3= BB /K A A1l BT 1,347 R T AMZ AT 33,140
75 |FT 10,482| EE™ 1,300 48 E B = M5 BT 31,458
76 |sRERSRATET 10,470|#83E BB S MR ET 1,282| 5 A AR = FET 28,733
77 | ERIERFIRET 9,320 £ JIIEB L)1 BT 1,228)4% = 2 s EA BT 27,602
78 |5 iREARERIBHET 8,005)F ¥ &p 4 Al BT 964 T AR IR FH)IIFF 27,485
79 |ERITH 7,449)1| L EB 26 F IR BT 957| &N AR ZR T ET 26,996
80 |RE AR ZFHET 7,436| A= B f-7RHT 902 4% 3= &R o 48 Al T 26,990
81 |ER%m 6,958+ B% BB R 1R ET 880|sR AR R T ET 23,854
82 |#uAIER B ARET 6,868 |1 B AR ERET 853 | 4" FA &R 7 &% i BT 22,877
83 | R ERF B BT 6,654 5 1L BB H A ET 724| EELERD Hr BT 21,203
84 |F&/FEm 6,408 |12 ;& ER4ZEHT 66058 A AR IR EAFT 20,095
85 |Z=XNER L= B EFHET 5,987| H & EBET U = HNET 657] L JIIER LI BT 16,134
86 |LAlmH 5,852| R AR R TTET 521 |42 E AR 2T 15,994
87 |LJIIERSSHEET 5612|=% 49550 )| AR it HH BT 13,843
88 |#AERRKZHET 5,480)4k 3+ 430))1| £ ARFE AR T 13,383
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89 |Z=&NEREE IRET 5,472 )11 &R ;th FH BT 392|534 B &R Y B ET 11,832
90 |E AR HroHET 5,418]| & A E3 -t Bk AT 355|031l EB % Al BT 10,931
91 |iATER AR 1RET 5,276 & L BB F BT 340 #3031 EB L AR ET 10,237
92 |A=ERE -7 ET 5,209 22 %1 &R 5T 298| RiRm 8,798
93 |/l EERZEFIEHET 5,208| —i# &8/ \ = HT 285| =i AR/ \ ZHT 8,339
94 |XIEEBIRLERT 5,116 | #3031 BB Bl BT 229| 2= &N ER L FY )1 BT 6,766
95 =11 ARt FET 4,866 |73 Il R EL &R BT 206| R AR IE BT 6,684
96 |/=EEBARISET 4,189)4C M AR 22 SR ET 184TSR AR e 1B AT 6,666
97 |LJIIERFEATHET 4,158 F ERERFRET 162 274+ ZB 51 ST 5,924
98 |4k 3= &R LA Al BT 4,096 |#3 1l &B = ER HT 132| = Th 5,894
99 |E L EBK FHT 4,016)4% = £BiR EIET 132|% = Bbk = fE BT 5,468
100 |#&F ER&T+iE) I ET 3971 L JIIEREE I BT 122| £EJIIEB TR I ET 5,106
101 |#RACLBRFRLLET 3954| RIERMEE 1205 & EB & F HT 4,040
102 |l ER & 75 BRET 3,863 4% == A0 o HE 7l AT 117|4C H AR = Sr AT 3,040
103 |:AT R AR R 1B ET 3,808|;AI BR AR L MR ET 115|251 BB = % BT 3,021
104 |4c FH AR 22 SR BT 3,678| LJIIERTJIIET 109|#E#HAER < S BT 2,958
105 |t AR=tHT 3,388]E = &bk = AT 108|532 71 B itk EET 2,498
106 | £ )11 BB LA ET 3,223|)1| L EB4Z 4L HT 103) LI EB;F K ET 2,290
107 |Fé2 BR R REET 31| F BB+ )BT 102| 2 27 A e 71l BT 2,265
108 | B IFER T IENT 3,015k AB=RHET 101 |4 H AR =t fT 1,983
109 |#8EARZE Al BT 2,846)4C AR =t HT 87| EAR 2 I BT 1,869
110 | B &R 3R 5 BT 2,116 RAEIRILAT L NS b N ) 1,670
111 |4k S=ER 4k SEHT 2,664|% = & E FHT 78)3A] R AR L 1R ET 1,492
112 #3051 2R % Bl BT 2,661] L)1 ER;EKHET T2 AR ER B T 7R BT 1,462
113 |+ B AR IR ET 2,621 |#8EER;E BIET 68| B2 E A ZHT 1,327
114 | EBEERA & R ET 2,619 RIE AP RIGHT 66| AT 75 BB e 4L N AT 1,266
115 | &5k 2,611 )05 B it BT 56|=%m 1,242
116 |4 EER/NEIKET 2,504| & ¥ &R RE I BT 55|#5 7I BB P L AR A 1,217
117 | £ BR#T 15T 2,453 EEHRER S £ HT 50] 9 11 ER 2 LA BT 1,101
118 |RIPE AR EE Al 4 2,453| = BT AR TSR ET 46| FEB AT 1,026
119 |FREER A B ET 2,388 A BB & L BT 42| 1| L B35 F B BT 997
120 |#&1LERIE IR BRET 2,284|I5 B AR ET 40) 4% == B0 5 HE A BT 885
121 | @ 2 &R FE Rl BT 2,282 FE BB o AL R AT 35| EREM 754
122 | RIEREE 2,282 Z2 5088 £ = R EFET 33 AT P AR B Al A1 745
123 | & AR L FOET 2,200 &5 FEBa 4t 32|51 BB S<iEET 736
124 | EREER N NET 2,172|sC A BB EFFHT 31| & AT AR5 AT 652
125 |4 HH AR 25 5 &R AT 2,099|#3 1l BB PE B BB AT 2648 1 LIBR T Z=H/T 626
126 |12 E AR ERT 2,047|E=EEFET 26)8>)1l T 504
127 |FARTERFARITET 2,023|;A SR AR BB BT 241 B EED Z ERET 462
128 | &R AL A 2,023)|Z2ENER _EBD )1 BT 23| RIEBR 5z Al BT 430
129 | )1 ER 2 LEET 1,935] 51| R 2 72 /T 20) =M 391
130 |4 HH AR = 7% Rl BT 1,911)3a] 75 R 58 A1 #1 201 2 BRI F A ET 286
131 |0 5RER B S ET 1,765] 5 11 B} 2 LA ET 19| RiE AR R IE BT 254
132 |#AHRER S < HT 1,762 K 15 &R 1= Al BT 19|t B AR E ST 4T 219
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133 |4 H AR &1 £ ET 1,762 ¥ 3k 164051 B i £ BT 85
134 |37 5 &R %7 7 BT 1,730 ME ol -EJIIERER I ET 75
135 | £ J1I 8B 2 RRET 1,700048 LU ER ST Z BT RIEHEE 70
136 |ZE&1ERch = B BFET 1,654|1RRARZ Y BT 6| 225N AR £ = B EF AT 24
137 | Z2&NERZR T ET 1,611 = B8 3 F AF BT | E4tin 6
138 |4CHERE T4 1,611)4 = 28 A R ET 3|7 R AR A U BT 3
139 | K& AR = Al ET 1,606 EN T 2|#EF R A R BT 3
140 | & AiTER & Bl ET 1,570 & AR Z BRET 2| LI ERFT ST 0
141 |FREZEARIL EET 1,426)&)IITH 1|#n 7= EB % 7 BT 0
142 |#&F 28 A R ET 1424| B O| £ LR =BT 0
143 | RIEER K G ET 1,313) £ JI BB 1SHT O] LR R %0 PR BT 0
144 |'& = BB 3| F AT BT 1,272 B2 [ B B2 7 BT O &I 2% & £ % BT 0
145 |4 H AR SR ABET 1,272) &5 R ER A R ET of Ll BB = 75 BB BT 0
146 |# AR Z BRET 1,233] £ J1I &R Lb # BT of &t B &R /1N ;B 7K BT 0
147 | £ BB LI ET 1,199 E L BN E E BT O *ARITER4E ST 0
148 |FIEEER B 1,198 FARIT AR FARITHT o4 B AR5 B BT 0
149 | B ERERIL B ET 1,165| N E AR AL EHT o] £ /I ZBZ Il BT 0
150 |30 75I B i EC BT 1,160 = BT &R 4 L Al 4% O| == AR AL Z=HT 0
151 |'& B &R iE F BT 1,088 44 B &R/ N EKET O & ERER AL B BT 0
152 | B BLER#E FAHT 1,088 | FARIT R 42 S HT O 35 &R & 55 &R BT 0
153 |& = &bk = f BT 1,050) 8 BRER AL BT O Fa = &R 152 /i P BT 0
154 | e )11 BB S5 iRET 948 |48 E &R K 22 BT O R ZE &R 7k 2 Il BT 0
155 |ZE&NER LA )I[ET 861 | &I 2% & £ 2% BT o)A AR & P ET 0
156 | £ )11 BB = 7 ET 860k & AR B L ET ofE)Im 0
157 |#&1LER L/ E BT 824 | FRALL R #R LLET Of 52 /5 & 52 i BT 0
158 |#& = &R ;H EIET 749 L REER &N N ET 0] % SR AR 1= HT 0
159 |2 AR = B B AT 716|FRE AR 5k &5 4F BT O] h& 2 BR A FAL BT 0
160 |SRTIERIFRFIIFT 713 AL EE X of = i &R # LU Bll 4% 0
161 |FEEE &R0 P BT 675 L )1 BR FEARET Oj AL 1R T 2 T X 0
162 | & AiTER#0 L Bl AF 636 LLI#% AR & 5 ERET o|Ir &M 0
163 |t F&f &y BT 599| &} B &R ;K E T o| R 0
164 | £ )1 BRFNZRET 562 £ 1| BF 2 Al BT of AL H X 0
165 |#307A! R G EL R A 532 £ 11 B 2 FRET O AL e =X 0
166 |3 &RER 2 HA T 526 B T ERFT IR AT O|FREE BB ik &5 4 HT 0
167 | £ )11 BRI ET 486| % sk EB R KT 0] L J11R 2 FRET 0
168 | LJIIART)IIET 450  F=F O):mT 7 &R 3 Z= BT 0
169 | E LA S B AT 379|:mI 7 &R 2F Z= T O #8 AR X 22 BT 0
170 |FREEERFL L R ET 75| EERX Of L )11 BB FEAF BT 0
171 |4% 3= 88 o tE Al BT 373|b 7 &R < B BT o= Al 0
172 |1 BRI ET 340 = )1 &R e ) 1| BT Of #R{LL R AR ALL BT 0
173 |sR T ARMZ ARHET 2633 7 AR 7 BT o| & T ER T IERT 0
174 | R EER R ET 2314 1L BRI R AR AT Of L )11 &R L 4R BT 0
175 RS AT O AL iR AP R X O] =R J1I BRI ET 0
176 |35 &0 AR & &R AT o|E Rl o|&aath 0
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177 ISR A EIRILF OJFRZE AR L R R BT 0] B B4 AR #& EAET 0
178 |45 AR 5% L AT O] B BLER#& EIET OJ+& | LI ER/Z iR SR ET 0
179 |18 E 2R E /T O /9 & EB M5 1N PN ET 0] 5% BB Ex BT 0
180 |FIAERF| A= BT O) AR ER FF ARET O] RITEBHARITET 0
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